
Volvo XC40 (type 536)
10/'17-

RE VISIENUMMER 009  |  N° RE VISION 009  30•01•2023 2295
Gdw nv. Hoogmolenwegel 23 | B | 8790 Waregem | T +32 (0)56 60 42 12 | F +32 (0)56 60 01 93 | gdw@gdwtowbars.com | www.gdwtowbars.com

T R E K H A K E N  •  A T T E L A G E S  •  A N H Ä N G E R V O R R I C H T U N G E N  •  T O W B A R S  •  E N H A N C E S  •  A N H Æ N G E R T R Æ K  •  G A N C I  D I  T R A I N O

M ontagehandleiding |  instruc t ions de montage |  E inbauanleitung |  M ounting instruc t ion 
I nstrucciones de montaje  |  monteringsvej ledning |  istruzioni  di  montaggio

STANDARD
MOMENTUM
R-DESIGN
INSCRIPTION
AD-BLUE
HYBRID

Volvo C40 EV (type 539) 
10/'21-

STANDARD
VEHICLES WITH KICK SENSOR

RECHARGE

Olifa
nt 

tre
kh

ak
en

 



3www.gdwtowbars.com

?

? +32 56 62 77 79
helpdesk@gdwtowbars.com

1 - XXX - XXX

ANTI-
RUST

1000 km GREASE1 2 30 km +

Ø 49 min.

1 2 3 4

Olifa
nt 

tre
kh

ak
en

 



4 www.gdwtowbars.com

Maxus Mifa 9 - 11/'21

MADE BY

BELGIUM

EC-N°
D 11,50

55R-02 1456S  120

xxxx 2295

F

DESCRIPTION

 S = ≤  120   kg ≤   2100   kg

Volvo XC40  10/ '17 -  &  Volvo C40  10/ '21 - 

E6

SERIAL N°REF N°

D =
max kg

max kg

max kg

max kg

X

+

X 0.00981 ≤ 11,50 kN

See the Certificate Of Conformity (COC) of your vehicle or contact your dealer to verify the max. trailer weight of your car!

MAX KG MAX KG

MAX KG

EC-N°

REF. N° SERIAL N°

DESCRIPTION

D 

S 

6EMADE BY

BELGIUM

D-VALUE
S-LOAD

A50-X?

+F?
EC-N°

REF. N° SERIAL N°

DESCRIPTION

D 

S 

6EMADE BY

BELGIUM

See the user manual of the vehicle for correct use of bicycle carriers!

Volvo XC40 10/'17- & Volvo C40 10/'21-

TX25 10 15 17 19Olifa
nt 

tre
kh

ak
en

 



5www.gdwtowbars.com

  

HELP

!

KEY NUMBER

XXXX
xxxx xxxxx xxxxx

www.gdwtowbars.com Pxxxxxx
xxxx

xx/xx/20xx
xx:xx:xx
xxxxxxxxxxxx

xx
xx

xx
xx

xx
xx

xx

xxxxxxxxx

EC-N

REF. N SERIAL N

DESCRIPTION

D xx,xx 

S xx 

6EMADE BY

BELGIUM

!

!
XXXX

xxxxxxxxxxxx xx-

XXXXXXXX!

!

Monday 08:00 - 12:00 12:30 - 16:30
Tuesday 08:00 - 12:00 12:30 - 16:30
Wednesday 08:00 - 12:00 12:30 - 16:30
Thursday 08:00 - 12:00 12:30 - 16:30
Friday 08:00 - 12:00 12:30 - 15:30

helpdesk@gdwtowbars.com
+32 56 62 77 79

Olifa
nt 

tre
kh

ak
en

 



6 www.gdwtowbars.com

2

10

6
7

9

-v

-p

4

1

6
7
93

5
8

11

10

5
8
11

Olifa
nt 

tre
kh

ak
en

 



7www.gdwtowbars.com

1
X1

G
D

W
 RE

F. 
22

95

2
X1

G
D

W
 RE

F. 
2

3
X1

G
D

W
 RE

F. 
3

4
X1

G
D

W
 RE

F. 
4

5
X4

D
IN

 9
02

1-
10

.5
X3

0X
2.

5

6
X4

D
IN

 12
5A

-1
3X

24
X2

.5

7
X4

G
RO

W
ER

 VS
K-

M
12

8
X4

G
RO

W
ER

 VS
K-

M
10

9
X4

D
IN

 9
34

-M
12

10
X4

D
IN

 9
33

-M
12

X4
0

11
X4

D
IN

 9
33

-M
10

X4
0-

10
.9

-V
X1

G
D

W
 RE

F. 
90

8.
10

2-
01

0

G
el

ev
er

d 
m

et
 - 

Li
vr

é 
av

ec
 - 

D
el

iv
er

ed
 w

ith
 

G
el

ie
fe

rt
 m

it 
- E

le
m

en
to

s a
dj

un
to

s -
 L

ev
er

es
 m

ed
 - 

Fo
rn

iti
 in

sie
m

e 

X1
94

4.
J0

06

X4
D

IN
93

1-
M

12
 X 

70

X4
D

IN
98

5-
M

12

X2
G

D
W

 RE
F. 

90
0.

01
1 

ø 
21

.3
 X 

11
.7

X1
G

D
W

 RE
F. 

90
0.

02
5

X1
G

D
W

 RE
F. 

90
0.

02
6

-P
X1

G
D

W
 RE

F. 
P4

3

�
X1

D
IN

98
5-

M
6

�
X2

6,
2 

X 1
5,

4 
X 1

,6
 (N

YL
O

N
)

�
X1

G
D

W
 RE

F. 
71

8.
16

.0
02

�
X1

G
D

W
 RE

F. 
71

8.
16

.0
03

�
X1

G
D

W
 RE

F. 
90

8.
10

0

�
X1

D
IN

93
3-

M
6 

X 3
0

�
X1

G
D

W
 RE

F. 
90

8.
10

2-
01

0

O
PT

IO
N

 T
38

X1
KI

TT
38

-2
78

7

Olifa
nt 

tre
kh

ak
en

 



8 www.gdwtowbars.com

2

1

TX25

TX25

ONLY C40 ONLY C40

Olifa
nt 

tre
kh

ak
en

 



9www.gdwtowbars.com

13

4

3

15

Olifa
nt 

tre
kh

ak
en

 



10 www.gdwtowbars.com

5

3 2

5811 5811 5 8 11 5 8 11

6                          

Olifa
nt 

tre
kh

ak
en

 



11www.gdwtowbars.com

7

8

17

93,0 Nm

10

6 7 9

10

1

7 9 7 67

17

79,0 Nm

4

Olifa
nt 

tre
kh

ak
en

 



12 www.gdwtowbars.com

9

10

A X1 GDW REF. 908.102-010

B X1 DIN985-M6

C X2 6,2 X 15,4 X 1,6 (NYLON)

D X1 GDW REF. 718.16.002

E X1 GDW REF. 718.16.003

F X1 GDW REF. 908.100

G X1 DIN933-M6 X 30 B C

A D E

F C G

10

2,0 NmVOLVO OE WIRING

Olifa
nt 

tre
kh

ak
en

 



13www.gdwtowbars.com

VOLVO OE WIRING

A X1 GDW REF. 900.025

B X1 GDW REF. 900.026

C X2 DIN931 M12 X 70

D X2 DIN985 M12

E X2 GDW REF. 900.011

19

93,0 Nm

C

-p

BAE

D

A X1 GDW REF. 908.102-010

B X1 DIN985-M6

C X2 6,2 X 15,4 X 1,6 (NYLON)

D X1 GDW REF. 718.16.002

E X1 GDW REF. 718.16.003

F X1 GDW REF. 908.100

G X1 DIN933-M6 X 30

10

2,0 Nm

G

C

F

E

D

A

C

B

NO OE WIRING

11

12

Olifa
nt 

tre
kh

ak
en

 



14 www.gdwtowbars.com

14

13

19

93,0 Nm

BAE

D

C

-p

NO OE WIRING

A X1 GDW REF. 900.025

B X1 GDW REF. 900.026

C X2 DIN931 M12 X 70

D X2 DIN985 M12

E X2 GDW REF. 900.011

Olifa
nt 

tre
kh

ak
en

 



15www.gdwtowbars.com

15

161516A F N
Opties - Options - Options - Optionen - Opciones - Muligheder

A X1 944.J006

B X2 DIN931-M12 X 70

C X2 DIN985-M12

4 X1 GDW REF. 2295-060

19

93,0 Nm

B

A

 4

C

OPTION T38

X1 KITT38-2787

Olifa
nt 

tre
kh

ak
en

 


